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[Participant ID

Participant Name

Test Center Name iON Digital Zone iDZ Jalalpur
Test Date 20/01/2021

Test Time 3:00 PM - 4:30 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q1 fhr 57 & 77 Tew 3N R TEU F ST 4 1 5 ¥ ST A @ A S e A
Ane X 1. 259% gifar

X 2 20% gifer

V'3 25% @

X 4 20% WS

Question ID : 9489113458
Option 11D : 94891113831
Option 2 ID : 94891113832
Option 31D : 94891113829
Option 4 ID : 94891113830
Status : Answered
Chosen Option : 3




Q2 g TRy F #0T wer e oRue ¥ 3eter B ae §2

Ans

X s

v BgFT TSF
X s gifggs @
X« TEgestes

Question ID :

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Chosen Option

9489113127

1 94891112505
1 94891112507
1 94891112506
194891112508
Status :
1

Answered

A3 Fg, meamw, 99 AW WHEEY 9T O9RG & W 9K F 94 F 9 a9 37

Ans

v 1. SF qUETr a
X 2. FeurpfEadT i a9
X 3. H{TE quardr 99

X4 fAte T
Question ID : 9489113125
Option 11D : 94891112498
Option 2 ID : 94891112500
Option 31D : 94891112499
Option 4 1D : 94891112497

Status : Answered
Chosen Option : 2
Q4 g Fmsw s g Mfres B (The Nice Guy Who Finished First) fa fremsr #r sheer &2
Ans : .

X 1. AEEwe Beeg (Michael Phelps)

v 2 TS gfas (Rahul Dravid)

X 3. TN J5H (Tiger Woods)

X 4 2= d%gH (David Beckham)
Question ID : 9489113105
Option 11D : 94891112419
Option 2 ID : 94891112417
Option 31D : 94891112418
Option 4 ID : 94891112420

Status : Answered

Chosen Option : 1




*° Zfr sin30=cos(8- 6°) ¥,

Ans

X 1. 120
X 2 26°
X3 30

W 4 240

ar 8 &1 A A HIAT]

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

9489113470

94891113879
94891113878
94891113880
94891113877

Status : Not Answered

Chosen Option :

Q.6 e F aiferaeEsT (Taliparamba) & 9ra Tiug 3@ R ART &7 7/ saEy, w57 Aot & 19 8 ==t
& &g & T A B A ¥ IH ARY F v R 77 § fF swe eaees A4 d

sl @ Hﬁﬂﬂ%ﬂ'ﬂw

X 2 THLETH AT AR
X 3. aepuTATIRET AT
v o TETeneET #RT

Question ID : 9489113110
Option 11D : 94891112437
Option 21D : 94891112439
Option 31D : 94891112440
Option 41D : 94891112438
Status : Not Answered
Chosen Option : --
Q7 s sa TEEAT # A 9aEy, S 1817 & Fot # B (Triads) & wages )
Ans x 1.
SIS sarifeT 75 (Dmitri lvanovich Mendeleev)
X 2. g A’ (Henry Moseley)
X 3 FAT #eizH (John Newlands)
v
aﬁsm JTeHeTeT ST (Johann Wolfgang Dobereiner)
Question ID : 9489113114
Option 11D : 94891112455
Option 2 ID : 94891112456
Option 3 ID : 94891112454
Option 4 ID : 94891112453
Status : Answered

Chosen Option: 1




Q8 femrgfesia vtk & BT av% 321 oW e & TEAr 3F SO (ISRO) & W=l 2019 #

50 TR 399 FT 99T T ar?
Ans X 1. GSAT-13

< 2 GSAT-30
v 3 GSAT-31
X 4 GSAT-32
Question ID : 9489113130
Option 11D : 94891112519
Option 2 ID : 94891112520
Option 31D : 94891112518
Option 4 ID : 94891112517
Status : Not Answered
Chosen Option : --
Q.9 Sererame e giew Fehe= (ICPC) #r ramem 1923 # # g& o, = g7 (INTERPOL)
ol cecildl
ae X 1. feaT
X 2 Fiferres
X 3 =ghTe
v 4 R
Question ID : 9489113134
Option 11D : 94891112536
Option 2 ID : 94891112535
Option 31D : 94891112533
Option 41D : 94891112534
Status : Answered
Chosen Option : 4
Q10 & + s
=T 7 ¥ FiF Feae 7 T &2
Al s
® X T FE
X2 e 7
X 3. A AT =T =74
v 4 & Ao # =T A/
Question ID : 9489113128
Option 11D : 94891112509
Option 21D : 94891112510
Option 31D : 94891112511
Option 41D : 94891112512
Status : Answered

Chosen Option : 4




Q11 zfEyor nfreT ¥ 9RA iles & T FgTeAT el & 1916 F oy freafaeaew & 9geh ax

A dit 9T geifg fmar ar?

X Tag TreafaeaTe

v 2 g fgeg Taeafeeae
X 3. golgraTe Feafacare
X 4. 3eiTE HiEaH farafacre

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113121

94891112484
94891112483
94891112481
94891112482
Not Answered

V2 O # O FOr B S wEa w veEye 9 &7

Ans X 1. avi
X 2..mp4
v 3 jpeg
X< 4. .mov
Question ID : 9489113138
Option 11D : 94891112550
Option 2 ID : 94891112552
Option 31D : 94891112549
Option 4 ID : 94891112551
Status : Answered
Chosen Option : 2
913 tan 5° tan 25°tan 45°tan 65°tan 85° T AT SH ¥ FEF s &7
Ans x 1. 4
K22
VS
K43
Question ID : 9489113471
Option 11D : 94891113884
Option 21D : 94891113882
Option 31D : 94891113881
Option 4 ID : 94891113883
Status : Answered
Chosen Option: 3




1 37 fura g wE e, S v Je 3+ V5 B
e K1 x24+6x+4=0

V2 x2—6x+4=0

X3 x2+6x—4=0

X4x2—6x—4=0

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status : Marked For Review

Chosen Option :

9489113465
94891113859
94891113857
94891113860
94891113858

Not Attempted and

a1 u‘ﬁ'x—ki: 62 a‘rx2+$$r:m?ra1?r£:ﬁvl
ane o134

X212

X3 36

X 4 38

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113453
94891113809
94891113812
94891113810
94891113811
Answered

1

O Crefafa & ¥ FiF o awfaw Wifw & o o ¥

Ans x1.
7€ 2 ¥ 3w 3R I S Remet & goeie g g

X 2 g 3 FTET A RBega 1 gEres I gl
X 3 Tg FBR grar § AR EEr ¥ 74 g

v /. FE FFYUATE UF TeAF 3= gl g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

9489113116

94891112462
94891112464
94891112461
94891112463

Not Attempted and
Marked For Review




Q17 = faeet & g € B9 ¥ o9 5 vor v waw § 3t o s ¥ sw e @ Tae e, S

T W HEIT g

Ans “ 62
1. p2ms
15
49
p
12
X7
p it
9
65
X4 =
16
Question ID : 9489113493
Option 11D : 94891113969
Option 2 1D : 94891113972
Option 31D : 94891113971
Option 4 1D : 94891113970
Status : Answered
Chosen Option: 1
Q18 1z, W ¥ O ¥ T, W T S ¥, AT W ¥ S Y 5 Y we A A
Ans “
T
X 2 Tgel
X 3 THAA
X4 T
Question ID : 9489113487
Option 11D : 94891113947
Option 2 1D : 94891113948
Option 31D : 94891113945
Option 4 1D : 94891113946
Status : Answered

Chosen Option :

1




Q.19 =7 7w PR Boiar & 719 FaEY, S aHeed & [EeTs W gU SA-HEed & True §

A 1 geTdr muE (Wangari Mathai)
X 2 A9 AT (May-Britt Moser)

X 3. f=T 5% (Linda Buck)
X 4 thaEd §Y (Francoise Barre)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489113104

94891112413
94891112416
94891112414
94891112415

Not Attempted and
Marked For Review

Q.20 37 e B Yo 1 AT a4 S A4 UF T8 ¥ e ¥ st weht Remet & awar B

Ans ?(1- W

v 2 3 (Radial)
X 5. derferardy

X4 Frenfia
Question ID : 9489113126
Option 11D : 94891112504
Option 21D : 94891112503
Option 31D : 94891112501
Option 4 1D : 94891112502
Status : Answered
Chosen Option: 3
Q21 =3t F B AET & ST @ 1988 F TSI FeAE-2 aiftg T aar ar?
Ans o FERYS
A2 3
X 3 heUTT
X 4 FFET
Question ID : 9489113140
Option 11D : 94891112557
Option 21D : 94891112558
Option 3 1D : 94891112559
Option 4 1D : 94891112560
Status : Answered

Chosen Option :

1




Q.22 20 o Jger, v 9fr AR FEET O F AT JY 23 I ) 3w 3 IEw, A o9, 9= Ak
39 97 wfEe &, Fr slea g 34 a9 §1 99 F 399 g 7 AT

Ans

v 16 a¢
X2 24 3§
X3 34 g
X4 42 3§

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489113473
94891113892
94891113891
94891113889
94891113890
Answered

1

Q23 gz 2+2=123+3=24 4+4=343T5+5=42% a8 + 8 & A A7 FaT

ans X 1. 56

X2 52

v': 54

X 4 50
Question ID : 9489113500
Option 11D : 94891114000
Option 21D : 94891113998
Option 31D : 94891113999
Option 4 1D : 94891113997

Status : Answered
Chosen Option: 1
Q2 T S wiTd e TR Fw T R M I A R = F
Aisg asferdt @1 o e Ad Few
as X1.9

X212

<311

v 4 10
Question ID : 9489113499
Option 11D : 94891113994
Option 21D : 94891113996
Option 31D : 94891113995
Option 4 1D : 94891113993

Status : Answered
Chosen Option: 4




Q.25 R aw wua X G #1 3 990 B & 7 gnonst F @ FF @ Fvw F AR

U

O THEEE F AR e F B, U AT S @ 3 0T st # Egear g
IO

I. HisEr sa=rd s

II. STFET g AU A & T w & A B o wwa g

K Fae aror | fafa B
X 2 2 arone fafza g
Vi T ar arom | st F & 1 A g
X 4 e arom || =T g

Question ID : 9489113481
Option 11D : 94891113921
Option 2 ID : 94891113923
Option 31D : 94891113924
Option 4 ID : 94891113922
Status : Answered
Chosen Option : 2

Q26 14,14, 15, 17, 16, 17, 17, 22, 13 & FCTFr 7T P
Ans X114

X217

v': 16

X415

Question ID

Option 2 ID
Option 31D
Option 4 ID

Status

19489113468
Option 11D :

94891113872

1 94891113871
1 94891113869
194891113870
: Answered

Chosen Option :

2




Q.27 600 m =@ v TEMEr 72 km/h A F I W@ E SH 200 HeX 9 W # R S F aan amw

TEE?
Ans X 1.20 s
v240 s
<330s
X410 s
Question ID : 9489113462
Option 11D : 94891113846
Option 2 ID : 94891113847
Option 31D : 94891113845
Option 4 ID : 94891113848
Status : Answered
Chosen Option : 2
Q.28 ux &% & of etere A 3R B §, St 38w 5 o¢ 3R 6 6T & W TFd &1 OF M=o C, W A
30 o F T@ET T FaT ¢ 3T T & F wrir S ot w v @y @ B e ) & & o
I & F e FREY wEem?
ans X112 h
X25h
X3 4h
v43h
Question ID : 9489113463
Option 11D : 94891113851
Option 2 ID : 94891113852
Option 31D : 94891113849
Option 4 ID : 94891113850
Status : Answered
Chosen Option : 4
Q.29 m=e durys fawma J9em & a9 w2 dEw oife S G § S waEe @Den & et @ e
Teae, At o Saa-Tiea Renfiet $1 smeawerast S R FET 5 e # A o 82
Ans
X 1. & (DIKSHA)
X 2 ggrs (PADHAI)
W 3 TJTETT (SAKSHAT)
X 4 gfdrets (PRASHIKSHAK)
Question ID : 9489113136
Option 11D : 94891112541
Option 21D : 94891112543
Option 31D : 94891112544
Option 4 1D : 94891112542
Status : Not Attempted and

Chosen Option :

Marked For Review




Q.30 7 T A & aeaEuE A T & ¥ R g sOwA @ aaT e T et @ s

s Fre s wARYR 3 Ao AR O 87
e X Ted FfY fawre A
X 2

HETcAT Meft TSE ATATOT V=TT AET T (MGNREGA)

X 3. TSI WA TgTaar Fasa (NSAP)
v

EFCTTST e TIAAT- AT T ?-nga?ﬁgz e (DAY-NRLM)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113143
94891112570
94891112572
94891112569
94891112571
Answered

4

Q.31

E FT TAFAT THT ¥ 91 FF & SATeam|
v 1. 3r ZIHAT 3T

X 2 UF TAFAT HF

X da ¥ 3O e 3t

X 4 AT SAAAT 3T

Ans

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 1D
Status :

Chosen Option :

1 9489113447

1 94891113786
1 94891113785
194891113788
1 94891113787

Answered
1




Q32 fypafafge # ¥ P AT T F el o YT @ At fr o 2

Ans o1 Femerm
X 2 ERGES
X 3 FERTSE
X 4 TS
Question ID : 9489113123
Option 11D : 94891112492
Option 2 1D : 94891112489
Option 31D : 94891112490
Option 4 ID : 94891112491
Status : Answered
Chosen Option : 2
Q.33 v
FoTTH HFAES FT T ATH FIAT 872
Ans X
1. FSH /=
W o HATHAT AT
A ir- -3
X 4 JfeeT e
Question ID : 9489113111
Option 11D : 94891112443
Option 2 ID : 94891112441
Option 31D : 94891112442
Option 4 ID : 94891112444
Status : Answered
Chosen Option : 4
Q.34 FiEaa, areer, ARy @ iR F g Fea 7 ¥ e Bfise e & & e
Ans
X I a9 TUA EJQE &
X g sREe &=
X giEwe ¢
v o giare Ofee T &=
I &
Question ID : 9489113141
Option 11D : 94891112564
Option 21D : 94891112562
Option 31D : 94891112563
Option 4 ID : 94891112561
Status : Answered
Chosen Option : 4




3 g & T F ¥ U TS F T IR & A1 § ST ST 9

e
X 2 F=o Fr @Er
X 3. T & HUGEr o (backwaters)
v ¢ HEAA AT

Question ID : 9489113124
Option 11D : 94891112496
Option 2 ID : 94891112493
Option 31D : 94891112494
Option 4 ID : 94891112495
Status : Answered
Chosen Option : 4
Q.36 gaw o ey TEET AR TEY O 99T 9Ed & # 5.9, (HCF) 7 e
ms K14
V22
X33
X4
Question ID : 9489113444
Option 11D : 94891113776
Option 2 ID : 94891113774
Option 31D : 94891113775
Option 4 ID : 94891113773
Status : Answered
Chosen Option: 4
Q37 e 7 373 K 9 7 & T, T8 e & AR F HoET W ol ¢ AN Hewad dote
TAIEEET o ST &1 S Gy @ 39T Weile S, HSGC # @AW Sd= A #ag #
e ey & T fasar ST &1 59 eret & A 9T T AW @ e S 22
Ans « 1. o) :ﬁ
X o T
X3 dde
X4 TerEeE
Question ID : 9489113113
Option 11D : 94891112451
Option 2 ID : 94891112449
Option 31D : 94891112450
Option 4 ID : 94891112452
Status : Answered

Chosen Option: 1




Q38 2720 =T TRHATE almmgg (Rationalising factor) ¥l

Ans 1
X 1403
X2 2%
1
X 3103

«4. 5%

Question ID : 9489113450
Option 11D : 94891113797
Option 2 ID : 94891113799
Option 31D : 94891113798
Option 4 ID : 94891113800
Status : Answered
Chosen Option: 1

O Oy e F FESie MO TigaT AT F YA 4§
A X1 grEEeTe SemEr

v 2 9o (pH) AT

X 3. T (OH) dAmET

X 4 g (dB) YAET

Question ID : 9489113112
Option 11D : 94891112446
Option 2 ID : 94891112448
Option 31D : 94891112445
Option 4 ID : 94891112447
Status : Answered
Chosen Option: 3




Q40 g ¥ G, H, |, J 3 K vw 9Fa & w2 ¥ (37T o6 &9 & @ 3T F4 8|
1L.Ag A Ag @R J A I F T A7
2. G IW BR W §I
3. K, J 3t | &= @ ased g

TAH ¥ FiA oifeed BT T TST &7
ms 1|
X2
X3 K
v+ H
Question ID : 9489113501
Option 11D : 94891114001
Option 2 ID : 94891114003
Option 31D : 94891114002
Option 4 ID : 94891114004
Status : Answered
Chosen Option: 4
Q.41 30 fafeer woas & A7 sanT Bwe F5 A w0 vE TR aeae # e & R & e
weE] fEie 1808 & wigd frer S & werd & snmww F Rwview e gam
Ans
X 1. 3T IHE (Ernest Rutherford)
v 2 AT seed (John Dalton)
X 3. 9iee (Proust)
X 4 AT (Lavoisier)
Question ID : 9489113115
Option 11D : 94891112460
Option 2 ID : 94891112459
Option 31D : 94891112458
Option 4 ID : 94891112457
Status : Answered
Chosen Option : 2




Q.42 Terr, 3T & 9F F IF H qgA ¢l TuT F AFAT F FAT FEy 2

Ans

v ardATTaE

K 2 9gad

X 3 erdy/arar

X 4 m?ﬁ'm@m

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113480
94891113919
94891113917
94891113918
94891113920
Answered

1

Q43 Ffx 24 3k 144 F AT, (HCF), ‘10p + 4’ &, & ‘p’ &1 A & HiraT

ae X1 4
X2 3
Vs 2
<41
Question ID : 9489113448
Option 11D : 94891113792
Option 2 ID : 94891113791
Option 31D : 94891113790
Option 4 ID : 94891113789
Status : Answered
Chosen Option : 3
Q44 g9, &r af¥ss a7 ¥ 225,000 H TN 9T 2 I§ F THIE TS A AFACY
Ans X 121,950
X 2. 2,560
X 3 21,560
v 4 23,090
Question ID : 9489113459
Option 11D : 94891113835
Option 2 ID : 94891113836
Option 31D : 94891113834
Option 4 ID : 94891113833
Status : Answered
Chosen Option : 4




Q.45 we & oy Fr D arenr-eET Byl o wE ¥ W W o TwE S U ¥ Rola e W

Ans

Hisg grem?

[ R

X
T T w -

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 1D

1 9489113503
194891114010
194891114012
1 94891114009
194891114011
Status :
Chosen Option :

Answered
1

Q.46 37 AT 1 1F FAET oEF dBd e R PREAE 7 ot o smR Bt ik dewees 7 g

Ans

T AR Saf3d 1 39% de Yo BT o a1 gee R o @ s &

A1 ST

X 2 =Y IEET
v 2 g&r gegefeRTor
X 4 graATEer
Question ID : 9489113129
Option 11D : 94891112516
Option 21D : 94891112515
Option 31D : 94891112513
Option 41D : 94891112514
Status : Answered
Chosen Option: 3
Q.47 sma W F gaRT @EET (BCG) ST i &rdr 3R F e wRe ge e dex Afser
e H Iy F e &LE. SemE (NTP) e f&war amr o)
Ans 1. 1960
v'2 1962
/3 1961
X 4 1963
Question ID : 9489113135
Option 11D : 94891112537
Option 21D : 94891112539
Option 31D : 94891112538
Option 4 1D : 94891112540
Status : Not Answered

Chosen Option :




¥ (x+3)° % REAR #, x F T Fhcdar 7

as X1.9
v 2 27
X3
X418
Question ID : 9489113464
Option 11D : 94891113853
Option 21D : 94891113856
Option 31D : 94891113854
Option 4 1D : 94891113855
Status : Answered
Chosen Option: 3
Q.49 T e H TER F AT ORI U, T AfEr 7w, "I AEHT A IR F HAlS o€ FO
¥ 3@ AR 7 TR # A e ¥ w2 oy P
s X A
X2 g7
X s agT
o SRR
Question ID : 9489113475
Option 11D : 94891113900
Option 2 ID : 94891113898
Option 31D : 94891113897
Option 4 1D : 94891113899
Status : Answered
Chosen Option : 4
Q.50 :
qgell §RE =T TEAT3HT FT ATET AT ST
Ans X 1. 20.45
X 2.12.00
# 3 10.50
v 4 16.42
Question ID : 9489113472
Option 11D : 94891113888
Option 21D : 94891113886
Option 31D : 94891113885
Option 4 1D : 94891113887
Status : Answered
Chosen Option: 4




Q51 2oy dea T # 5w Fia & B e & sem i gge TS Fha AT S 82

Ans X
1. TeATTeI
X 2 Fharafor
X 3 3T MmiEeg
v 4 TegETar
Question ID : 9489113108
Option 11D : 94891112429
Option 2 ID : 94891112430
Option 31D : 94891112432
Option 4 ID : 94891112431
Status : Not Answered
Chosen Option : --
Q.52 gy T & Rl 9§ 21 (Fy21) & Kms & TSI FaT &1 Agcarredr oeg Sruffa
rar 1
Ans - X1.1000
v 215000
# 3. 5000
& 410000
Question ID : 9489113139
Option 11D : 94891112556
Option 2 ID : 94891112553
Option 31D : 94891112555
Option 4 ID : 94891112554
Status : Answered
Chosen Option : 2
Q.53 g 7=, A 3l B # el 35 & Foe 85 3R 68 T W A W 1 @i, 3 IEGAHT F @A
TH-TAW HFHT F B Sondl & ¥ Far s &, o 790 & fhe @ O 50 @ Tde e A
A fhae o1 W@ I =IRT ol 2 @ - A AR B T TRE o S?
Ans
X 11445 =97 9y e
v 217 Far gy S
X 3 68 7T 9y YFe
X 4 85 79T 9y Y
Question ID : 9489113452
Option 11D : 94891113808
Option 2 ID : 94891113807
Option 31D : 94891113806
Option 4 ID : 94891113805
Status : Answered

Chosen Option : 2




Q.54 1964 3 swa F Ugerm YeNTESE F dex RAuEt (PHWR), 3eifle wast 3ie s

3R T F TR (NPCIL) 1 §gF 39%A o1

AnS 1. g UE.TE.3R (USSR)

X 2. wrE (France)

X 3. IS (Israel)
W 4 &HaA1eT (Canada)

Question ID : 9489113132
Option 11D : 94891112526
Option 2 ID : 94891112527
Option 31D : 94891112528
Option 4 ID : 94891112525
Status : Answered
Chosen Option : 2
Q.55 Ihfear $r ve FER 60000 AT TART A W A FaTS 6 cm & ST §1 A Hr
TEafas wEg AT Sew)
Ans
X1 —cm
100
1
V2 cm
10000
#3.1000 cm
1
X 4 — cm
1000
Question ID : 9489113460
Option 11D : 94891113840
Option 21D : 94891113839
Option 31D : 94891113837
Option 41D : 94891113838
Status : Answered
Chosen Option : 2
Q.56 Fiet T A FARF 3T A TENT GENT s fRam wrar on, @ g@wer (UNESCO) & 1983
freT eigT oIt o
Ans o 1 OIS HEW
K2 AR @ e
X 3. gAY F FFHa
K4 e fper
Question ID : 9489113109
Option 11D : 94891112433
Option 2 ID : 94891112435
Option 31D : 94891112434
Option 4 ID : 94891112436
Status : Answered

Chosen Option: 3




Q57 7fr 23 A6G4 A 13 =136423 TM 9 AG7 A 12 = 125798, AT 29 A4 A6 =7

Ans X 1. 6492
X 2. 6924
V' 6429
X 4 6249
Question ID : 9489113498
Option 11D : 94891113992
Option 21D : 94891113991
Option 31D : 94891113990
Option 4 ID : 94891113989
Status : Answered
Chosen Option : 3
Q.58 . z
Tgell &0 TH GTehd HEITHT &l AT AT HIT=AT
Ans  of 1. 11
<28
X310
X 49
Question ID : 9489113469
Option 11D : 94891113875
Option 2 ID : 94891113873
Option 31D : 94891113874
Option 4 ID : 94891113876
Status : Answered
Chosen Option : 1
Q.59 ofy Bl Fesror F J Fr N Rr@r v ®, R & V G orar § it X # B B o &, & 3= a5
amer F JOVY Fr T wHR o Jem?
Ans of 1. NSC
X 2. NSA
# 3. NOB
< 4 NRA
Question ID : 9489113474
Option 11D : 94891113896
Option 2 ID : 94891113894
Option 31D : 94891113895
Option 4 1D : 94891113893
Status : Answered

Chosen Option :

1




Q.60
AT #t ga fiET)
(V3- v2)x (V3+ V2) =7
Ans x 1. %%
K22
V3 1
X4 (V3+ V2)
Question ID : 9489113451
Option 11D : 94891113803
Option 2 1D : 94891113802
Option 31D : 94891113801
Option 4 1D : 94891113804
Status : Answered
Chosen Option: 3
Q.61 - ) -
T HEAT T F 25% ¥ 60 O g1 "§Ear A SHitew)
Ans of 1. 80
K2 75
< 3 65
X 4 45
Question ID : 9489113455
Option 11D : 94891113819
Option 2 1D : 94891113817
Option 31D : 94891113820
Option 4 1D : 94891113818
Status : Answered
Chosen Option : 1
Q.62 A forxlr wrr #1 20 Rt # O #T wEaT € AR B I WO w24 RA F 9w = wwar 1 7 10 R
T UE T HE w4 §, A H OIS & &1 B 9 w1 @ e e & 9@ o e
Ae XK amer =
V22 s
X331 f=
K43
Question ID : 9489113461
Option 11D : 94891113843
Option 2 ID : 94891113841
Option 31D : 94891113842
Option 4 1D : 94891113844
Status : Answered
Chosen Option : 2




Q.63 1930 #, frmar cfordl 1 RuTs Fordsr vafAvye & worfsa o AT 3% oI v e B #=a

#r AT H?

K. FAET I A%
v 2 AT HEET
X 3. FETeAT ey

K 4 3egel TFHI Wil

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option : 2

9489113117
94891112468
94891112466
94891112465
94891112467
Answered

V" ZamTe (Yakshagana) @ sTRET T=7 H S SRR §7

Ans «
1. m
X2 HEH
X 3 FERTSE
X 4 TS
Question ID : 9489113107
Option 11D : 94891112427
Option 21D : 94891112428
Option 31D : 94891112425
Option 4 1D : 94891112426
Status : Answered
Chosen Option: 1
Q.65 HrdTe JgF & TRue TR H A F BT 9EE W &g #EE F e T O # e s
Ty & ar?
e o EAR. T
Y
X 2. FEET I A%
X3 dr R, 3EEHT
X4 gAY = S
Question ID : 9489113120
Option 11D : 94891112477
Option 21D : 94891112478
Option 31D : 94891112480
Option 4 1D : 94891112479
Status : Answered
Chosen Option: 1




Q.66 siw #, v fraw 1 gEw & @ A 25% F X g ¥ AR A A, 5wA 20% F w5 §1

Ans

& T # ge A, WS & ¥F g # T o gam?
X 1. TG A AT

X 2 Tg 5% 3w o

X 3. Tg 25% HEem o)

v ¢ TE THA o

Question ID : 9489113502
Option 11D : 94891114005
Option 2 1D : 94891114007
Option 31D : 94891114008
Option 4 1D : 94891114006
Status : Answered
Chosen Option : 4
Q7 Praff@a & @ ST T TET TATSS FEaT FAEH F AT F4T 87
Ans + - + 3
K 1. gTear el TeE [SeReeTar 9 IiSar
X 2 ey amedr gy FvmEr e AT
X 3. 3{=AA90T (Annapurna)
 + 3T (AYUSH)
Question ID : 9489113142
Option 11D : 94891112566
Option 2 ID : 94891112565
Option 31D : 94891112567
Option 4 ID : 94891112568
Status : Answered
Chosen Option: 4
Q.68 1909 # Agc it A T 3@ IFaF w1 A A SwA 98 T o7 F e s saer
HEORT 7 1 ar ffeer arEaT wATT g Areem)
Ans : .
K1 AT @941 T 9Rd (India of my dreams)
X 2 TR FJua (Village Swaraj)
X 3
FITHET A - EW AfAT v o (Constructive Programme - lts Meaning and Place)
v ¢ Tgeg =TS (Hind Swaraj)
Question ID : 9489113118
Option 11D : 94891112470
Option 2 ID : 94891112471
Option 31D : 94891112472
Option 4 ID : 94891112469
Status : Answered
Chosen Option: 3




Q.69 s RfR=d Fe o1 &, METHOD & DOHTEM fr@m =mar §1 38 % s & CHOCOLATE =t fFar

g orEr FArTe?

Ans X 1. TELAOCOCH
X 2. ETLAOCOCH
v = ETALOCOHC
X 4 ETALCOHOC

Question ID : 9489113478
Option 11D : 94891113909
Option 2 1D : 94891113910
Option 31D : 94891113911
Option 4 1D : 94891113912
Status : Answered
Chosen Option: 3

70 v FT x%, F y% & aET gl

Ans 1. 100x

10

Question ID : 9489113456
Option 11D : 94891113822
Option 21D : 94891113824
Option 31D : 94891113821
Option 4 1D : 94891113823
Status : Answered
Chosen Option: 3




Q.71 gra & g7 399 TEI0T TS (PSLV-C45) & 1 3w, 2019 &t Te (EMISAT) 3iX 28 siaémr

g TTAET I WEAES FEl & e Fhar?

X . IR TF 3998 %% (UR Rao Satellite Centre)

Ans

X 2

HeY Ffarger apnferm, 1 (Centre Spatial Guyanais, Kourou)
X 3 B TATT FIEEIC (Spaceport in French Guiana)

v
TAer 98 3aLeT $g (Satish Dhawan Space Centre)
Question ID : 9489113131
Option 11D : 94891112522
Option 21D : 94891112521
Option 31D : 94891112523
Option 41D : 94891112524
Status : Not Answered
Chosen Option : --
Q.72 ﬁ m . '
T=feRaas T HEAT GIA, WE-HAT (co-prime) g2
Ans
v 6 3T 35
X293k 12
X 3 39 3 65
X4 14 3T 21
Question ID : 9489113445
Option 11D : 94891113780
Option 2 ID : 94891113777
Option 31D : 94891113779
Option 4 ID : 94891113778
Status : Answered
Chosen Option : 1
Q.73 E :
TeTSHT & AT =T ZIRT &6l FA I oW FiF A g7
Ans  of 1. HeIOTAH
X 2 T
X 3. heads
X 4 iwofr
Question ID : 9489113122
Option 11D : 94891112485
Option 21D : 94891112486
Option 31D : 94891112488
Option 41D : 94891112487
Status : Answered
Chosen Option : 4




Q.74 NN ¥
e X AT wE
X 2 of@T wE
v o 3afeT Jer
X o quT HEar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489113449
94891113794
94891113795
94891113796
94891113793
Answered

Chosen Option : 2

Q.75 = ¥ FiF 3ANE FI FHA T AEHIAEET (Sun microsystems), FSRTFT g F 3RFA (oracle)

& feger ¢ B o, & FEe # ¥ U 27

o K wER st
X 2 gex =g
X 3 mear F3er
v i A graer

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113137
94891112546
94891112545
94891112547
94891112548
Answered

4

76 yRT F FIYFT ToF THEROT FFA (UNEP) & FiTerd Far v 37

N
v ag el
X5 i
X o 5

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489113133
94891112532
94891112529
94891112531
94891112530
Answered

Chosen Option : 2




Q.77 mmﬁmm-ammmaﬁrmﬁ?m

Ans

X 11790
X 2 1793
X 31791
v 1792

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113119

94891112473
94891112476
94891112474
94891112475
Not Answered

78 va aigearE e & =T 35 m ¥ s Ry A Hifdw

Ans

X 1135 m
X245 m
X390 m
v 4180 m

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113466

94891113863
94891113861
94891113862
94891113864
Not Answered

Q79 zg gwur & TUa #Y, o Peafat@a v # geAfiEs () F T 9T 3T T B

Ans

12, 49, 197, 788, ?

X 12341
v'2 3157
X 3 4029
X 41845

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113484
94891113934
94891113935
94891113936
94891113933
Answered

2




Q.80 =fy frehr 3Tg =1 5% F @I W 3T = F a9 5% F WA W &7 A0, A RS Fr B/ 50F

S g g1 FEG # FF Hed A Hiiw]

Ans X 1. 240
V' 2 350
X 3. 280
& 4 260
Question ID : 9489113457
Option 11D : 94891113825
Option 2 ID : 94891113826
Option 31D : 94891113828
Option 4 ID : 94891113827
Status : Answered
Chosen Option : 2
Q.81 =fy wfr A, e 5 giewm & 9 A # & TS B 1 T 5 T S T HS T WAEST B &
T e g, AT T B, A ST AT F T AT F  I4F #1 1 T 5 OF F5 F Fe AEA
afee st & ol #r e &, o IRt A 3R B & deu & e F O Sl a1 wua w7
Ans
X 1. gfar B fae 2
X 2 fRefig a2 fFar s g
X s gfer A 3% B
v+ fErar A 3K B gET @A £
Question ID : 9489113486
Option 11D : 94891113942
Option 2 ID : 94891113944
Option 31D : 94891113941
Option 4 ID : 94891113943
Status : Not Answered
Chosen Option : --
Q.82 uw fagrar el aFgHt W FU qEw § 40% HeE qow AfkT Far € AT 38 9 20% F 5T &
3 9T g FTe @ AT Hievl
Ans 1. 10%
X 2 20%
V'3 12%
X 4 40%
Question ID : 9489113454
Option 11D : 94891113813
Option 2 ID : 94891113814
Option 31D : 94891113815
Option 41D : 94891113816
Status : Answered
Chosen Option: 3




Q.83 wqw#ﬁm&ﬁrwm%?aﬁmwwm@ﬁmaﬁﬁwmﬂm@

g &1 s % =R F

Ans JTT[:V!é

X242
X3m:1l
X443 m
Question ID : 9489113467
Option 11D : 94891113867
Option 2 ID : 94891113866
Option 31D : 94891113868
Option 4 ID : 94891113865
Status : Answered
Chosen Option : 1
Q84 Gy 9ndT TsT & Hews (Malkhamb) & 39T T O Oifvg Har?
At o 1 FreTTRer
X 2 gRrom
X 3 3eaT 9T
X 4 IeoEsE
Question ID : 9489113106
Option 11D : 94891112424
Option 2 ID : 94891112421
Option 31D : 94891112422
Option 4 1D : 94891112423
Status : Answered
Chosen Option : 1
Q.85
Tae@a #1 #= aJg fiEw
(0.63+1.26)x4+5x%3
ae X115
<218
v 17
X416
Question ID : 9489113446
Option 11D : 94891113781
Option 2 ID : 94891113784
Option 31D : 94891113783
Option 4 ID : 94891113782
Status : Answered
Chosen Option : 3




Q.86 frw =rw I #F 2008 3T 2009 F T AraSe wUAT FANT AT BT Aege w1 Azat (A T F) &=

Ans

sferE-ar Reor g T 31 2008 3k 2000 7 T Aesa B S o TEa FAen 4,50,000 of
3 6,40,000 =i

(T fadr Aisat 7 A1 BrEr W (range,) & &9 # 7, SWH Aealaeg AT, 3E@W0T & o7 10 3
20 ¥ &= # fahr Bg & 15 AT ST wRw)

" p—
o
0%
.3
3
]
. ]
1"
(.3
2008 108

WhodelA WModelB mModelC ®ModelD BModelf WModel F

g

2008 # fAfAT C, D 3R F Aisal & #Aamsa Bt $ o wEar e 7

< 1. 2,02,500
X 2 1,35,000
v 2 1,80,000
X 4 2,25,000
Question ID
Option 11D
Option 2 ID
Option 31D :
Option 4 ID
Status
Chosen Option :

1 9489113489
194891113953
1 94891113956

94891113954

: 94891113955
: Answered

3




Q.87 Rw =v 7w & 2008 37X 2009 F TH HeEd FUr FEN W BT AEEe B AEat (A ¥ F) &7

Ans

SferRE-aR ReRor g ar §1 2008 3k 2000 F RET A B g TEwr A 4,50,000 o
3T 6,40,000 ot

(@ foefr Alser &1 A7 el X (range,) & @9 & ¥, sw Aeafieg AfT, seweor & i 10 A
20 F &= # faedr g #1156 AT ST =@mRw)

" -
£

0%
.3
3

]

. ]

i

(.3

008 009

BhiodelA WhodelB WModelC ¥ModelD WMedelE WhlodelF

2008 3T 2009 & 2= forw Alser & 3cEa H @ AT WU gRE/EAT ~gAaH
v gEs E

X 2 migaT B

X3 glEa C

X 4 J\iger A

L

Option 4 1D
Status

Question ID :
Option 11D :
Option 21D :
Option 31D :

9489113490

94891113960
94891113958
94891113959

1 94891113957
: Answered
Chosen Option :

1




Q.88 Rw =rr amw #F 2008 3 2009 F TH HeEET FUr FAN W BT AEEe B AEat (A T F) &=
SferrE-a) ReRor Zar ar §1 2008 3R 2000 F BT dewe B g T Fan 4,50,000 o
31t 6,40,000 =t

(afy Rl Aewr F1 A B W (range,) ¥ T F ¥, 5w Fewfieg Wi, 30T F AT 10
20 & d= # fadr Bg & 15 AT SEw wRT)

- -
-
b
o
%
4
]
e
i
.3
2008 2009

WModelA WNodelB MModelC ®ModelD WModelE WModelF
2008 3T 2009 ¥ 2= BT Azw B F A Fr T F 3w 79 FET

Ans 1. 60,500
~ 2121,000
X 322,000
/< 4 65,000

Question ID : 9489113491
Option 11D : 94891113963
Option 2 ID : 94891113964
Option 31D : 94891113961
Option 4 ID : 94891113962
Status : Answered
Chosen Option: 1




Q.89 Rw wr amw #F 2008 3T 2009 F TE HEET Fur AN WEHT BT AEE B AEa (A T F) &7
SferRE-aR ReRor g ar §1 2008 3k 2000 F RET A B g TEwr A 4,50,000 o
3T 6,40,000 ot

(@ foefr Alser &1 A7 el X (range,) & @9 & ¥, sw Aeafieg AfT, seweor & i 10 A
20 & d= 7 e fig & 15 AW ST i)

100%
%
k]
0%

o
0%
4%
”
. ]
10X
[
008 009

BhiodelA WhocelB WModelC ¥ModelD WMcdelE Whlodelf

g &l ga AT o Asar C & #&f & T 90% Tode o9 T o 9, A 2000 F A H s &
foreer & a2

Ans 196,000
v 2 18,600
X 36,000
X 4.1,67,400

Question ID : 9489113492
Option 11D : 94891113967
Option 2 ID : 94891113966
Option 31D : 94891113968
Option 4 ID : 94891113965
Status : Not Answered
Chosen Option : --

Q.90 33 fyerew &7 wUw Hf3T, BEH dw W TWE FT HEU T @, B G 7 g9y Bu o g
TE=AE F Ueg 1@ B

TagaEr (Whisper) : =T (Singing) : et (Sound)
1 9f¥E (Magazine) : T&¥% (Book) : TET (Read)
X 2
Ts# (Road) : arga (Vehicle) : 3Tged (Destination)
X 3. FHZ (Sea) : T (Underneath) : femer (Large)

X 4. T2y (Babies) : Hema#A (Soft) : =aRT (Cute)

Question ID : 9489113479
Option 11D : 94891113915
Option 2 1D : 94891113914
Option 31D : 94891113916
Option 4 1D : 94891113913
Status : Answered
Chosen Option : 1




Q.91 ofy el Fewmor & GOES = 715519 forar smar &, & 38 Feemw & FAST & 5w v foram

Chosen Option :

SATTET?
Ans X 1. 611519
X 2. 512620
< 3. 511620
v 4 611920
Question ID : 9489113476
Option 11D : 94891113901
Option 2 ID : 94891113902
Option 31D : 94891113904
Option 4 1D : 94891113903
Status : Answered
Chosen Option : 4
Q.92 Rr Peedt F T 30 T & W4T Y, S AeATaET v F weAfEEs (7) F T 9T 3T AT B
D4R22H8Y15P?
Ans  of 1. 24
X218
K37
X 420
Question ID : 9489113488
Option 11D : 94891113949
Option 2 ID : 94891113950
Option 31D : 94891113952
Option 4 ID : 94891113951
Status : Not Answered
Chosen Option : --
Q.93 ax yeR-wey fow o ¥, G @ & T woeR & mEe € 3R v 3T §1 3ET 3RR-AAg A
TTT HIfST
Ans of 1. MOQ
X 2 BDG
X 3 JLO
X 4 RTW
Question ID : 9489113495
Option 11D : 94891113977
Option 21D : 94891113978
Option 31D : 94891113979
Option 4 1D : 94891113980
Status : Answered

1




W e W U g IS ey §, S == &

Ans

(1.3“2'
X 2 #rex
X s \ATT
X 4 s

T gl

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

1 9489113477
1 94891113906
194891113908
1 94891113905
1 94891113907
: Answered
Chosen Option :

1

Q.95 F=afT Rwedt & ¥ 30 weg & 90 &Y, o 3T 710 o6 F HaW & 394197 F{ 7l aarar o

TR B
CATASTROPHE
ans X1 TRAP
< 2 CASTOR
v 3 TROPHY
X 4 STAR
Question ID : 9489113494
Option 11D : 94891113974
Option 2 ID : 94891113973
Option 31D : 94891113975
Option 4 ID : 94891113976
Status : Answered
Chosen Option : 3
Q.96 3=, 3T, I it o fiwe € S Sefas, e At afoe s § Sefies et R
¥ S &1 Rt gE e e &, s § v qew G 1 9R # ¥ & v gut ® e § AR
T wAw: Fafaaa dHR sfaew ged #1 sfea e e Ak st g
FIS FiF T R T ¥
Ans :
X Fufg a8 B ST ERar g
X 2 FEfaae
< 3. it
v o sfags
Question ID : 9489113496
Option 11D : 94891113984
Option 2 1D : 94891113983
Option 31D : 94891113982
Option 4 ID : 94891113981
Status : Not Answered

Chosen Option :




Q.97 uw faffree @iz amr #, VLGH' &1 ‘52" for@r =ar g, ‘QBNZ’ &7 ‘62’ Torer =iar §1 56 &g «mwr &

XPRF’ & #18 FT £7

as  of 1 g7
X273
X3 71
X4 69

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113497
94891113985
94891113988
94891113987
94891113986
Answered

1

Q.98 fw =iv FEt H Frewdt F cOETES W #Y a6 & Fa § Tew, R e Fuw @ A w9 @

arel F B

e

HRA P ST FUTE H ATHE IS 4 1764 F Fr o
Cizacs

I = AT HoET &1 ¥ a0 § o @ g £

II. TRt T F apTeTe e ¥, Suf F aetist w8

s X1 2 sy gt g
v g ar Ty | Ak F & Il 9T 1 B
X 3 Fao FsFy | I w4 g
X 4 Faer frswy | 9T FIar B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113482
94891113927
94891113928
94891113925
94891113926
Answered

2




Q.99 H % o R & Hwr-em @S &1 afF H, R % 50 & 3 &, & R % 9@ H & &iwr o a8 & aneeh| H

F Ut o FE 2
ms X125
< 2100
Vs 75
X 4 50
Question ID : 9489113483
Option 11D : 94891113929
Option 21D : 94891113932
Option 31D : 94891113931
Option 41D : 94891113930
Status : Answered
Chosen Option : 3
Q.100 1fx=-2, y=3, Quantity A= —x’y* and Quantity B = 0, then which of the following statements is correct with respect
to Quantities A and B?
Ans 1. Both Quantities A and B are equal.
/< 2. Quantity A is greater.
+ 3. Quantity B is greater.
/< 4. Impossible to determine.
Question ID : 9489113485
Option 11D : 94891113939
Option 2 ID : 94891113937
Option 31D : 94891113938
Option 4 ID : 94891113940
Status : Answered
Chosen Option: 3
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